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AEHO—X KEHO—X TEHa—X
13:00~14:00 10:15~11:15 11:15~12:15
1 2A H(A) nakL (%) 1 1A 8H(GK) oakL (%) 1 128 78(4) oakL (%)
2 108(A) =) (183) 2 15H (7K) =) (183) 2 148 (%) =) (183)
3 178(RB) IKFRIEES () 3 228 (7K) IKFRIEES () 3 218 (+) K FRIEED ()
4 24H(A) JEEF (%) 4 298 (%) JEEF (%) 4 28H (+) JEEF (%)
5 38 BH(A) EIK (E%) 5 28 58(K) EIK (%) 5 18 11H(1) EIK (%)
6 105(}%) A kL yF (H3) 6 128 (7k) A kL yF (H3) 6 188 (+) 2Ly F (H3)
7 178(A) nabkL (%) 7 198 (k) nabkL (%) 7 258 (£) nabkL (%)
8 248 (AB) ARy FR=IL (FH) 8 26 H (7k) A hLyFR=IL (BS) 8 28 18(+) A hLyFR=IL (BS)
9 4A B(A) nabkL (%) 9 38 5HEGK) oOakL (%) 9 8H (1) oakL (%)
10 14H(A) T7AakE GEE:D) 10 128 (k) T7AE (H3D) 10 158 (%) auygul (HH)
11 218 (A) nabkL (%) 11 198 (k) nabkL (%) 11 22A (1) nabkL (%)
12 28H(A) JEEF (%) 12 268 (7x) iy = ;) (1) 12 38 18(4) JEEF (%)
13 58 128(A) oakL (%) 13 48 28(K) o iy P (%) 13 8H(+) o iy P (%)
14 198 (A) iy = ;) (144) 14 9H (7k) JEEF (%) 14 158 (+) iy = ;) (1)
15 265(}%) KA ES) () 15 168 (k) KA ES) () 15 22H (%) nabkL (E%)
16 67 B(A) m I S (%) 16 238 (%) nabL (%) 16 48 5H(L) KR IEE) (Hi5)
17 B(A) EIK (%) 17 58 14H(K) B IR (%) 17 128 (4) IR (%)
18 16EI(H) A kLyF (H3) 18 21H (k) A kLyF (H3) 18 198 (+) 2Ly F (H3)
19 E(H) nabkL (%) 19 28H (7k) nabkL (%) 19 268 (1) oakL (%)
20 7R BH(A) sy gu (H3) 20 68 48(K) ALy FR—IL (E2Z) 20 58 108 (1) I7OE (H3D)
21 148(R) ALy FR=IL (S 21 118 (k) T7AaE () 21 178 (1) ALy FR—I (%)
22 218 (A) EwHRT R b (%) 22 18H (k) EAT R b (%) 22 248 (1) EAT R b (%)
23 28H(A) FEF+ T X MER (&%) 23 258 (7K) FEF+ T X MER (&%) 23 68 T7H(1) FEF+ T X MER (&%)
BRAFARIDIBETTN, 3HARHBENEEHENH. LN TIE. tI1—X TORSREBEHEILET
KIS : 2F ZEBMNAR—RX (KkBEH=7T—NLH A FEE, ER=2F Y TRXELHESR)




